Akers BK

Barometer IMP 2020-01-20

IMP o6ver faltet, 3 bord,

6 par. Antal brickor: 25.

Plac  Par Poéng Namn MID Klubb
1 2 116 Jakob Johansson - Magnus Strom 64650 31824  Stréangnas BK Gripen
2 6 80 Marianne Soéderberg - Per-Erik S6derberg 2149 2150 Akers BK
3 1 0 Stig Carlsson - Bo Westh 94097 11733  Akers BK
4 4 -6 Kaarina Blomkvist - Ingela Malmberg 91034 49926  Akers BK
5 5 -36 Gurli Signon - Karl-Uno Blomkvist 55807 9412 Akers BK
6 3 -154 Christina Pernvi - Lars Enander 64184 67714  Akers BK
1 4 EKn10 Basta kontrakt 2 4 EK103 Basta kontrakt 3 & KKn Basta kontrakt
Nord vE3 3NT N =400 Ost vE 4v O =-420 Syd vE107 2v S =110
Ingen 4973 NS + 853 ov + K109872
#ED654 & ¢ v & NT #DKn984 & ¢ v & NT D9 & ¢ v & NT
4 K8642 495 N9 97709 «D8754 49 N8 33625 4D8632 474 N5886 7
vD98764 v Kn2 S99779 v 1072 v KD863 S83365 v8532 vK6 S58867
+D ¢ KKn542 O4 466 4 ¢ EDKn72 ¢ K94 O5 9 107 6 ¢- ¢ ED643 0855765
*2 #KKn97 V 44664 LE #E1075 V59 107 6 #7542  #EKS86 V85575
4 D73 & Kn62 4 E1095
v K105 v Kn954 v DKn94
+ E1086 + 106 4 Kn5
#1083 »K632 #Kn103
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
4 3 2NN +1 2 150 120 -120(6 1 3NV-3 »2 150 140 -140|4 3 2¢ N+1 «A 110 11.0 -11.0
6 1 3NN-1 +4 -50 -2.0 20(4 3 3&#N-1 49 -100 -4.0 40|6 1 3¢DN-1 &7 -100 -4.0 4.0
5 2 3NN-3 vl] -150 -10.0 10.0(5 2 2v O+2 *2 -170  -100 100(5 2 24 O+1 *J -140 -7.0 7.0
4 «D3 Bésta kontrakt 5 & Kn874 Bésta kontrakt 6 & DKn Bésta kontrakt
Vast v 632 6¢ V =-1370 Nord v 1097 ANT O =-430 Ost v K1098 3v S =140
Alla ¢ 654 NS + 1097 ov + Kn943
#DKn1092 & ¢ v & NT #Kn102 & ¢ v & NT #Kn109 & ¢ v & NT
4 KKn105 498 N7 1252 4 K5 « ED1062 N6 4333 « E6543 41087 N889 7 8
v EKn8 vKD754 S71252 vKD8642 vKn S 64333 vKn3 vE75 S 889738
¢ K973 ¢+ ED82 O 6 12118 10 +D3 ¢ K8652 O 7 9 101010 ¢ 105 + ED86 O55 46 4
&E4 *76 V 6 12118 10 D95 *K6 V79997 #7654  #K32 V55464
4 E7642 493 & K92
v 109 v E53 v D642
+Knl0 + EKn4 * K72
#K853 #E8743 #EDS8
Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang
4 3 240-3 +J 300 280 -280(6 1 44 O-1 LY 50 150 -150(1 3 1v N= +6 80 9.0 -9.0
6 1 4v O+1 +*J -650 -13.0 13.0|4 3 3v V= *J -140 20 -20(5 4 1¢ O= v2 -70 -3.0 3.0
5 2 4v V+2 4Q -680 -15.0 150(5 2 3NO+1 *4 430 -17.0 17.0(6 2 24 O= A -110 -6.0 6.0
7 46 Bésta kontrakt 8 4« Kn875 Bésta kontrakt 9 4 D8653 Bésta kontrakt
Syd v Kn87 44 S =130 Vast vED98 3NT N =400 Nord vKn3 44 ND-1-100
Alla + KKn1076 Ingen +84 ov ¢ Kn
#10973 & ¢ v & NT »864 & ¢ v & NT #EKn965 & ¢ v & NT
a4Kn84  4D1095 N 109 4 7 6 D93 » K106 N9 9799 a2 « K10 N6 2396
vKD932 vE654 S 109 4 7 6 v K73 vKnl0652 S 9 9 7 9 9 v 1072 v EKD54 S6 2396
+D2 4984 O3 48¢66 ¢ E65 ¢+ D73 0346 3 4 + 8754 ¢ EK1093 O 7 10104 7
#EKn4 D5 V348¢6F6 #Knl1072 #95 V33633 #K10732 #D vV 7 10104 7
& EK732 s E42 » EKn974
v10 v4 v 986
¢ E53 + KKn1092 + D62
»K862 #EKD3 »84
Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang
13 3vV-l 46 100 11.0 -11.0|1 3 3NS+2 v3 460 11.0 -110(1 3 4v 0= s A -620 0.0 0.0
5 4 34 S-1 vK -100 -4.0 40|5 4 3NS= «2 400 50 50|54 4v 0= »8 -620 0.0 0.0
6 2 3y V= 46 -140 -7.0 70|16 2 2¢ S= ¢+5 90 -16.0 16.0|6 2 4v O= s A -620 0.0 0.0
10 & KKn42 Bésta kontrakt 11 4 E3 Bésta kontrakt 12 « E1086 Bésta kontrakt
Ost v K7 44 S =620 Syd v Kn53 3v S =140 Vast v D53 34 VD-1100
Alla + DKn9865 Ingen + D765 NS 49543
*6 & ¢ v & NT #EK62 & ¢ v & NT »E9 & ¢ v & NT
«D953 410 N 8 115 108 « D75 « K1084 N7 7978 4753 aKDKNn942 N 6 9 8 5 7
v 109543 vED862 S 7 114 107 v2 vD1097 S67 978 vKKn87 vE9 S6 9847
¢73 ¢E2 052822 ¢ Kn983 ¢ EK10 O6 6 465 ¢Knl0 ¢72 07 3585
#53 #DKn1072 VvV 5 2 8 2 2 #Knl10743 #85 V664675 #8642 #KD7 V73585
~ E876 & Kn962 o-
vKn v EK864 v 10642
+ K104 ¢ 42 + EKD86
#EK984 *D9 #Kn1053
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
6 2 3¢ N+3 4T 170 16.0 -16.0|6 3 2v S+2 a5 170 80 -80|2 4 340-1 ¢ A 50 14.0 -14.0
1 3 44 N-1 *A -100 -4.0 40|2 4 2vS= 3 110 20 -20(6 3 24 0= ¢ A -110 3.0 -3.0
5 4 44 S-2 ¢ 7 -200 -120 120(1 5 3vS-1 LN -50 -10.0 10.0|1 5 2NN-4 a4 -400 -17.0 17.0

Akers BK, Barometer IMP 2020-01-20, sida 1 av 2




13 aE2 Basta kontrakt 41073 Basta kontrakt 15 4 ED4 Basta kontrakt
Nord v 853 ANT O =-630 v 743 Syd v- 5v V =-450
Alla ¢ 7652 ¢ KDKn2 NS ¢ DKn76532
*Kn876 & ¢ v & NT #952 2972 & ¢ v & NT
4K873 4Kn5 N3 2242 2K982  4Kn64 46 «Knl0873 N 2 7 2 5 4
vEKn42 K76 S42353 vD1092 v EKKn6 vE107532 vDKn4 S37264
¢+ KD ¢ EKn943 O 9 11108 10 ¢E10 465 ¢E +10984 085 117 7
+KD5 #1042 vV 9 11108 10 *E74 #KDKn10 #EKD83 #10 V95 117 7
+ D10964 «ED5 & K952
vD109 v 85 v K986
4108 498743 +K
#E93 #863 +Kn654
Par  Kontr ut Res Poang Kontr ut Par  Kontr ut Res Poang
15 4vV-1 & A 90 -90|1 5 5+V-1 +K 6 3 44 V-3 +Q 16.0 -16.0
2 4 3NV-1 +5 90 -90|2 4 4vO= v8 2 4 24V-1 ¢+ Q 9.0 -9.0
6 3 24 S-3 &5 -300 -180 18.0|6 3 4v O+1 »8 1 5 4vDV+1 ¢Q -690 -25.0 25.0
16 4 D2 Basta kontrakt 4 E10952 Basta kontrakt 18 4 D6542 Basta kontrakt
Vast v8 ANT N D -3 -500 v 972 Ost v 85 6NT O =-990
oV + 964 ¢ E62 NS 4103
#EKDKN972 & ¢ v & NT »86 & N #Kn1098 & ¢ v & NT
«K3 «Kn109854 N 7 3 5 3 7 «Kn73 «D4 N 7 3 4973 ~E8 N54151
vKn1097632 v- S73537 vE843 vKDKnl10 S 7 3 v EKKNn1074 v 9632 S54151
¢D ¢EKKn752 O 1 106 101 ¢+K95 ¢DKn1073 O 6 8 +85 ¢ EK97 08 9 128 12
#653 *8 vV 1 106 101 #1093 #EK V 6 8 *E3 +KD5 vV 8 9 128 12
~E76 4 K86 & KKn10
v EKD54 v 65 vD
41083 +84 + DKn642
»104 #DKn7542 »7642
Par  Kontr ut Res Poang Kontr ut Par  Kontr ut Res Poang
6 4 5 N-= s 260 -26.0|6 4 4v V-1 s A 2 1 4v V+2 *J -480 0.0 0.0
3 5 5&N-2 *A -100 10 -10(2 1 3vV+l 8 3 5 4v V+2 +3 -480 0.0 0.0
2 1 44DO= vA 790  -27.0 27.0|3 5 2v O+2 LN 6 4 4v V+2 LN -480 0.0 0.0
19 « ED10982 Bésta kontrakt 4 E63 Bésta kontrakt 21 #9743 Bésta kontrakt
Syd v 104 34 SD-1-100 v EKn1076 Nord v EKn4 4v O =-420
oV 4963 +8 NS ¢ EDKn10
*62 & ¢ v & NT *ED97 LI A #109 & ¢ v & NT
aK64 475 N7 9 486 2 KKn87 #4 N9 588 +102 ~E85 N38374
vE986 ¥KDKn752 S 7 9 4 8 6 v 832 v D94 S9588 vK10963 v D82 S38374
¢E4 + D108 06 49 46 ¢10754 ¢EKDKn92 O 4 8 5 4 465 ¢ K43 O 105 105 8
#KD84 453 V64946 #Kn5 #K103 V4854 #E754 #DKn83 V 105 105 8
4 Kn3 4 D10952 & KDKn6
v3 v K5 v75
¢ KKn752 463 49872
#EKn1097 #8642 *K62
Par  Kontr Ut Res Poéang Kontr Ut Par  Kontr Ut Res Poéang
6 4 24 N= *5 17.0 -17.0 3y N= ¢ A 6 5 1a S= +6 11.0 -11.0
2 1 4aDN-1 vK -100 6.0 -6.0 3¢ O-1 vK 4 1 34S-1 v3 -100 -3.0 3.0
35 4 0= *2 -620 -23.0 23.0 2¢ O= 49 32 2vV+2 *9 -170 -8.0 8.0
22 4874 Bésta kontrakt & K97 Bésta kontrakt 24 & Kn4 Bésta kontrakt
Ost v Kn54 34 S =110 v 1087 Vast v EK76 54 V =-450
ov + Kn42 + K965 Ingen + Kn9652
#EDKnN6 & ¢ v & NT *KD7 & ¢ v &N *76 & ¢ v o NT
~ EKD62 #Kn53 N9 86 67 63 «ED84 777 8 8 «4ED109 4K873 N25522
v 876 v K1032 S98667 vE9642 ¢53 777 88 vKnl05 v43 S25522
+E9 ¢+ D1053 045776 ¢E832 +1074 55644 +84 ¢ EKD O 117 8 119
K108 %95 V4a577°¢6 *42 #Kn1085 556 44 #KDKn5 #E832 vV 117 8 119
+ 109 # Kn1052 4652
vED9 v KDKn v D982
+ K876 ¢ DKn 41073
#7432 #E963 #1094
Par  Kontr Ut Res Poéang Kontr Ut Par  Kontr Ut Res Poéang
4 1 INO-2 +6 17.0 -17.0|4 1 2NS= v4 3 2 44 V+1 vA -450 0.0 0.0
6 5 INO+1 6 -120 -6.0 6.0(6 5 2NN= v4 4 1 564 Q= v2 -450 0.0 0.0
3 2 14 V43 *Q -170 -11.0 11.0|3 2 24 S-2 *4 6 5 44 O+1 *T -450 0.0 0.0
25 K105 Basta kontrakt
Nord vD 3v N =140
ov + DKn9
#Kn98432 & ¢ v o NT
486432 «D97 N6 6 956
vE3 v 982 S66 956
+ K76 ¢ E1053 06 7 486
#E107 &KD5 V6748€6
4 EKn
v KKn107654
¢ 842
*6
Par  Kontr Ut Res Poéang
6 5 4e V-1 vQ 11.0 -11.0
4 1 4vyDS-1 46 -100 -4.0 4.0
3 2 24V+l vQ -140 -7.0 7.0
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